IES JOVELLANOS 

MATEMÁTICAS-B

REFUERZO  ECUACIONES E INECUACIONES.  4º ESO. 

Resuelve:







Soluciones
1. 3x2 -75 = 0
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2. 8x2 + 16x = 0





x = 0
 ; x = -2
3. x4 – 4 x2 + 5 = 0 







4. x4 – 13 x2 + 36 = 0
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5. 4x4 – 17 x2 + 4 = 0
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6. 4x4 – 37 x2 + 9 = 0
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7. x3 – x2 - 4 = 0





x = 2

8. 6 x3 + x2 – 26x -21 = 0




x = -1, -3/2, 7/3

9. x4 - 6 x3 -11 x2 + 96x -80 = 0
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10. 
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11. x - 
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x = 6
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x = -7
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x = 5
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15. 2x = 21 - 
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x = 10,08     y =6,83



4y + 
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16.  4x + y/3 = -11





x = 2  y = 9

x/2 – 2y = 17

17. x+ y = 20






x = 4
 y = 16


xy = 64 






x = 16  y = 4 

18. x + y = 13






x = 9  y = 4


x2 – y2 = 65

19. x2 + xy = 10






x = 2  
  y = 3

y2 + xy = 15






x = -2   y = -3
20.  2x2 – 4x – 6< 0





x((-1,3)
21. x2 + 7x + 7 > 9(x+1) -2x-1




x>1  ó  x<-1

22. x2 – 4x +7< 0
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